3. Theruleris l:> longer than the crayon.

1y 7 (2) 5
3) 3 (4) 4 ( )

What is the time shown on the clock?

(1) 1 o'clock (2) 2 o'clock
(3) 3 o'clock (4) 12 o'clock ( )




5. 58isthe same as

(1) 5tens 8 ones (2) 8tens b ones |
(3) 50 tens 8 ones (4) 58 tens

6.  Howmuch moneyis there in the purse?

(1) 90 cents (2) 85 cents
(3) 80 cents (4) 75 cents




7.

Thereare 6 panda bears. I put 2 bears in a cage.

T need cages.

2 VY Wt
ey

(1) 6 (2) 2
(3) 3 (4) 8 ( )

How many more strawberries than apples are there?

R
OO

(1) 8 (2) 2

(3) 10 (4) 18 ( )




9. The numbers on each side of the triangle add up to 18.

What does A stand for?

1 7 ) 8
(3) 9 (4) 10 -




Section B: (10 x 2 marks)
Fill in-each box with the correct answer.

10. Worite Bb in words.

11. 89-47-=

12. Peter has 12 marbles. Bala has 14 marbles. How many marbles
do they have altogether? .

Werite the answer in the model below.

v

They have marbles dltogether.




Study the graph below and answer questions 13 & 14.

The graph below shows the number of glasses of fruit juice
Mr Ravi sold.

Glasses of fruit juice sold

Orange juice

Lime juice

Apple juice

13.  Mr Ravi sold the least number of glasses of

Jjuice.

14.  Mr Ravi sold fewer glasses of orange juice than

apple juice.




15.  Fill in the blanks with the words ‘shorter' and ‘longer’.

Rope A is __than Rope B but

than Rope C.

16. Match the correct amount of money to the coins on the right.




17. The time on the clocks shows Rita's activities for the day but
they are not arranged in order. |

v
o ;

i2

A B
Rita went for fuition Rita went To her granny's
after lunch. house for dinner.
C D
Rita had a late lunch Rita had her recess
“at the food court. in school.

Write A, B, C, D ineach blank to show what Rita did for the
day in order of time, beginning in the morning. |

Morning




18.

19.

Study the pattern.

| 3

The missing number is

Tim has 18 stamps. He wants o put them into 3 equal groups.

‘\s 1

How many stamps are there in each group?

There are

stamps in each group.

10



Section C: {3 x 4 marks)
Read the questions carefully and complete the story sums.
Write the answers in the blanks provided.

20. Pam has $29. She wants to buy a teddy bear which costs $42.
How much more money does she need?

O[] =

Pam needs more.

21. David has 5 bags of oranges. There are 4 oranges in each bag.

@) DRAW the correct number of oranges in each bag.

b) How many oranges does David have altogether?

David has oranges altogether.

1



22. Karen has b stickers.
She has 3 stickers more than Jerry.
- How many stickers does Jerry have?

() | =

Jerry has

-- End of Paper —-

Please check your work carefully.
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Q1L ]Q21Q3/04]Q5

3 3 4 12 1

Q10 fifty-five

Q11 42

Q12 12, 14, 26
Q13 lime

Q145

Q15 larger, shorter
Qi6

Q17D,C, A, B

Q18 30

Q196

Q20 $42 — $29 = $13

Q21 (a)

OO
OO

QOO
OO

OO
OO

OO
OO

OO
QO
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(b)5x4=20
Q25-3=2
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